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Question ID : 2390877671
Status : Answered
Chosen Option : 4

1. Casual
2. Causal
3. Case
4. Casting
5. Castle

Ans  of 134,512
75 2.3,54,1,2
X 3.431,25
/X 4.3,4,52,1

Q.2 fA=fafEd el &) 39 YR @ shilag &3, S8 & Sl Aeaen!r H shdag Udid aid &l

Question ID : 2390877654
Status : Answered
Chosen Option : 1

Q.3 A+Bawr3fg'A, BHTUEE
A-B&Tafg A BRI A&
AxBwTafg'A BHragag
A+BaTfg'A BRAIE

Ans &1 3d
X 2. 95
/X 3.4

FREX+Y*xZxV-Ug ay, Ua & g&fag?
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Question ID : 2390877674
Status : Answered
Chosen Option : 1

Q4 Ru v smr-sEa #4F N oior sfaRis @ aga F, o odor B 3ER g A @ I g

YNBGS

Tt X eodVIA
S DENY
e DHANY
vieddWY

Question ID : 2390877693
Status : Answered
Chosen Option : 4

Q.5 I 3R 1 TG R, Wil FArfafRe siaen d usraras Rig (?) & U™ = o Gawar g1

LGKR, 0COO, RYSL, ?
Ans o 1 uuwI

5 2. TVWK
< 3.uvwi
X 4. TUWY

Question ID : 2390877651
Status : Answered
Chosen Option : 1

Q.6 TfX'A o1 o1f ‘M B, B T 31 'Tun’ B, C o 312 ‘e @ 9k D @t o1 'Siter @, |t Pafefae
THfteRor @1 A T RifSig?

68D189A9B4C88=?
Ans X" 1 54
/< 2.49
/X 3.68
of 464

Question ID : 2390877685
Status : Answered
Chosen Option : 4

Q.7 fu 7y T &) dgfea aaM & o 9 @ &) gl ot ofiz €t dwereil ot wreuR agemT
=Tfeg?

21-14x5+27+3=90
Ans X" 1.3 5, + 3R x
X 2.213R 14, + R +




/X 3.14 3R 5, + 3R x
of 4215127, + 3k -

Question ID : 2390877686

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q8 =3 Ry = Taw W, o & E gy A ahifa ¥ (ada (@vm) B R € Y

Ans

Question ID : 2390877692
Status : Answered
Chosen Option: 1

Q.9 39 feeu o1 au &R, STt gefta T & ary ag ey 8, it g e & vuw gen | gl

5:130::8:?
Ans X" 1240

X 2.120
/< 3.410
of 452

Question ID : 2390877681
Status : Answered
Chosen Option : 4

Q.10 Qe fAfgya fewmar &, MARKER @t 1311811518 forar sirer 81 I+t ggemar # DOCILE &t &t
foraT srem?

Ans X" 121639115
/X 2.41638125
o 341539125

/X 4.21539115




Question ID : 2390877667
Status : Answered
Chosen Option : 3

Q.11 fA=afaf@d gl ol 39 UehR @ shag &, 519 3 ST regeniar & shdag udia gia 81

1. Scolding
2. Scenery
3. School

4. Scheme
5. Science

Ans X" 12,4315
o 224351
/X 3.2,34,51
/X 4.3,2,54,1

Question ID : 2390877655
Status : Answered
Chosen Option : 2

Q.12 39 AE-GiH T TG 3, Forad Ry g g 2reei & fiw agh ey &, it Ry o 2reg-gmm & g
ereEl h f gl

T : SR
Ans X 1. EAR
JZ.W:W@I
75 3.gem: Rt
X 4. ofRr gt

Question ID : 2390877661
Status : Answered
Chosen Option : 2

Q.13 3B &P Q,R, S, T, U, V 3R W, AT e & Qeh JRiTehR AW o IRI 3R Teh g & T09
TR grATae fdem & &3 &1 af Q Iwr-ud Ran # der 8, At V fohw fyam d de1 82

Ans X 1. R
75 2. zfRrorufym
o 3.zfm
K 4.FR

Question ID :

Status :

Chosen Option :

2390877675

Not Attempted and
Marked For Review

Q.14 I THET-giH T T9 3, FAad & 7€ A1 Tt & i ad deiy g, sit Ry 1g den-gm Hir
S demmatt & f=r @1

16:128
Ans o 1.20:200

K 2.12:112
/X 3.22:232
75 4.28:390




Chosen Option :

Question ID : 2390877680
Status : Answered

1

Q15 #r R 1w a7 @ #, Tew, SO w1 el wa G B [ we #1 el wwa § it
T, ‘FAERl B FAERT FaT 1 INE F &§ 75 sead 39 fadw soft F afaat fr s F o
¥

Question ID :

2390877696

Status : Answered

Chosen Option :

1

Q.16 ¥2,40,000 <t o7 AFA ah} Fofid, fAerr iR ereget & ofia 59 uerr faaRa Rran s & & wfia
&l e arelt Af, s &t e areht wfy @ &= 7 g srsge = Sfia @ 240,000 w0 Aea
&1 37ege ol fhasit wfA et &2

Ans X" 1.340,000

/5 2.%1,00,000
o 3.280,000
/5 4.360,000
Question ID :
Status :

Chosen Option :

2390877687

Not Attempted and
Marked For Review
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™

Figure X
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Question ID : 2390877690
| Status : Answered

Chosen Option: 2
L

Q.18 I AE-GiH ol TG he, AT R 7q a1 ereai o offar adh Seiwr g, <7t 3w 71Q eree-gmw & <t
eregt & AT g1

Tereran ga : fifaa
Ans X 1 Ul : Tl (RR)
v
25 3. 7ar: s
25 4. s meeTet
Question ID : 2390877659

Status : Answered
Chosen Option : 2

Q.19 35 37 3@ & 947 H, S Bu A€ @ F B av w9g F 9 F gaui & g@feww w7 F Fele
HTaT §l

Ans

v

2




m@O

Question ID : 2390877695
Status : Answered
Chosen Option : 2

Q.20 56 ST Fi Felm #, 18 B FIF +t @t T8 Werat &, 27 gicht Derd & 9k 29 afefiaia @erd &1

et o gt 3 atefiaie el @ed &2
Ans X" 111
X 2.9
W 318
75 4.19

Question ID : 2390877688

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.21 sgfA= A, B, C, D, E 3R F Sw-q@ Yah Hifl a1 d 93 § afFa s adi e s s A gl C, B
FaE IR T A ST81D,ARCFfradsTdIFBREF Hfud g1 8 w9 & gt aafwh
iR as &2

Ans X 1 BSiRE
o 2. AsRE
X 3. ASRF
/X 4.CRE

Question ID : 2390877676
Status : Answered
Chosen Option: 2

Q.22 Ry g Reredt d & & faavea o1 7o= &%, St Frafaif@a «ifaes Rafaal & adema ek srefyguf
¥ I FaTaT 81

1.359
2.7t

3. dagdte
4. fSrem
5.3

Ans X" 12,3154
X 2.3,24,1,5
323415
/X 4.3,2,51,4

Question ID : 2390877653
Status : Answered
Chosen Option : 3

Q.23 F=fafEd siaen 7 9 sigRa ieR-a9qg &1 99 &1

PZN, SCQ, VFT, YIW, BLA
Ans




75 1.PZN
5 2. VFT
53w

Question ID : 2390877649
Status : Answered
Chosen Option : 4

2 57 Rwew &1 9aa Y, O & & 7F amfy X swfERe &
(AT (Aeee) B At AE )

Figure X

Ans

FA A
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Question ID : 2390877691
Status : Answered
Chosen Option : 1

Q.25 Qe fAfZe ewmar &, CANADA @t DZOZEZ forar strar g1 3+t greymsm # EUROPE @t 4 foran
SITQT?




Ans  of 1 DTSNQD
/< 2.DTTNQD
/5 3.CTSMQF
/5 4.CTSMOP

Question ID : 2390877665

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.26 39 TEAT &1 T94 R, it F=fafEa siaar & vsaras Rig (?) & U uR o1 Hahedl 81
37,39, 42, 47, 54, 65, ?
Ans X177
X 2.76
378
< 4.79

Question ID : 2390877678
Status : Answered
Chosen Option : 3

Q.27 Qe fAfZa fewmr &, MAGIC &t OCIKE forar sirar 81 I+t ghewrar & SPOON @t &4 foran
SITQT?

Ans o 1 URQQP
75 2. VRNNP
/< 3.UsQaP
75 4. VSRRO

Question ID : 2390877666
Status : Answered
Chosen Option: 1

=
Q.28 39 faeheq =1 Ta= &, fAHeRT GeT sieR-THg & T1y gl dey g, it e srer-wgg o uus
SMER-TE | Bl

UKHA : SMFC :: TJRO : ?
Ans o 1 RIPQ

/X 2.RLTQ

/X 3.s11Q

5 4. WLTR

Question ID : 2390877663
Status : Answered
Chosen Option : 1

Q.29 39 31ER & T &N, St F=faf@a sjaen # usearas fRig (?) & TU U o Hahar 81

PU,ZE?

Ans J’LJ
K2l




< 3.K
K4

Question ID : 2390877647
Status : Answered
Chosen Option : 1

Q.30 I 3MeR & I &N, Sl i@ sjaer & usiarae Rig (?) & T U 1 Gohdt g1

RJ, ?2,AXYV

Ans JTE
X 2.6
/X 3.H
K 4aF

Question ID : 2390877648
Status : Answered
Chosen Option : 1

Q.31 39 3HER-TYE & 99 &N, St =@ sjaen # usamas g (?) & U= Uz o1 "ahar 21

DXTU, HXXU, LXBU, ?

Ans X 1 PBFY
75 2.PYFU
o 3. PxrU
75 4.0XFU

Question ID : 2390877650
Status : Answered
Chosen Option : 3

Q.32 farshid grot o1 deT &1 GH- W1 Y 9t &1 TR fashid ot der 81 iemad & gt 9 6 and

A1 @ ¥ TERT A I HTE &1 ot SR SAierare! b1 o Seie 82

Ans quﬁ
X 2.3a
/X 3.

75 4. =rEn/mmE

Question ID : 2390877673
Status : Answered
Chosen Option : 1

Q.33 39 fAereq &1 Ta- o, fAeT geia e & 1y ag) @&y g, sit e d@wear o v e @ gl

7:147::9:?

Ans X" 1 242
of 2243

X 324

/X 4.240




Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.34 3wy e mq § fSirent srgavn |, 11 3R 11l wifera = frsemd @ved &1 g w6 Ry g
FHY A & 7S SRR I @; ¥ € a8 9rE=d: Td 92t @ 9= udia gidt @), ag Aofa |
3R ga1g ok o= /8 e, st o1 arfdhes w9 & SrgaRoT FHear/4 &/81

HY:
1. goft @t () anferat &1
2. @ W () T &l

fArseptf:

I. o urfeat o= g1

II. = uferat wret () g1
1. gft enferat = &1

Ans X" 1. goft foreend ergeRoT aRa &
25 2. s | 3R 111 &+ & argeror ahedl &
25 3. e 11 3R 111 21T € Srgeror ad 1
o 2. Fred | oiR 1| 3 ) orgeRor ad B

Question ID : 2390877669
Status : Answered
Chosen Option : 4

Q.35 39 feheq &1 Ta o, fATeT geia sieR-T9gg & 1y adl "9 g, <1l i srer-agg & uus
AER-TE G B

POSTCARD : DRACTSOP : : VALIDITY : ?
Ans X" 1 YTIDIALV
75 2. AVILIDYT
o 3. YTIDILAY

75 4.YTIDVALI

Question ID : 2390877662
Status : Answered
Chosen Option: 3

Q.36 39 fAehea =1 Ta o, fAHeRT Geia ug & 91y a8l ey g, it f3dta ug st aam ug @ g1
AT : g emr: ?
Ans B e
75 2. %
J&%]ﬂ??ﬁ

X 4 agd

Question ID : 2390877657
Status : Answered
Chosen Option: 1

Q.37 Qe fAfga ewmar &, TRUCK = 365 31k FOG = 84 forar sirar &1 I+t ghewmor & DOCILE &t &t
foraT sem?

Ans X" 1174
X 2.176




W 3172
X 4.170

Question ID : 2390877668

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.38 39 fAeheu &1 T o, fAeRT geta ug & a1y agl Teiy g, it 3o ug st aum ug @ &1
hgar : Hier :: e 2
Ans x 1_1113—55
75 2. e
/X 3. s@m

o 4T

Question ID : 2390877656
Status : Answered
Chosen Option : 4

Q39 337 a7 (aFw) 1 T W, O A R v o () F Tt | Ase s on @ §

4

1ls

5
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3 9P G
v Fad s¥q (F99) 2
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Ans

Question ID : 2390877689
Status : Answered
Chosen Option : 1

Q.40 39 AZ-JoH 1 T4 63, o Ry g a1 2reat & fr ag ey &, st Ry g 2rez-gmm & At
ereEt & A gl

“ferar: srfrerr
Ans X' 1 gerer: &
25 2. e : af@r smRe
o 3. wrerdia R
X 4. T wiogT

[ Question ID : 2390877660




l Chosen Option: 1

Q.41 39 fehea o1 T+ o, e & 7 demnei & i aght dev §, sit Ry g wgg fr St &
Eie k|

8:88:96
Ans o 1.11:121:132
K 2.7:77:121

/X 3.12:144:173
/X 4.9:99:118

Question ID : 2390877683
Status : Answered
Chosen Option : 1

Q.42 39 €T &1 99 &, St e sjiaen & usearae Rig (?) & T uR o Fhdt g1

75,102,135, 175,?

Ans  of 1 293
X 2.225
/< 3.221
X 4.227

Question ID : 2390877679
Status : Answered
Chosen Option : 1

Q.43 39 faemea o1 9g+1 o, et qeia s1eR-wwg & a1y agl @9 g, St f3dia sier-ayg o1 auwm
SMeR-TE A g1

ABODE : FEPCB : : CAUSE : ?
Ans X" 1 FTTBB

75 2.DBVTF

o 3. FTVBD

/X 4.FvTBC

Question ID : 2390877664
Status : Answered
Chosen Option : 3

Q.44 39 T &1 9T R, St Frafaf@a siaen # asraras Rg (?) & T wR o @a@dt 31
12,15, 19, 24, 30,?
Ans X136
X 2.35
/< 3.34
W 437

Question ID : 2390877677
Status : Answered
Chosen Option : 4




Q.45 wrrer & v g W A w1 w4 iRk 7w e e A 73 e e A Few | Peitva gl
# fommar T ) @ W W aE S e TR Bad e

T

wed Ememed

Ans 0

| Question ID : 2390877694
Status : Answered
[ Chosen Option : 1

e w— W

Q.46 Ry g et 7 @ T Rerea @1 7a o, st Aefaf@a il & e adhdma o siefgf
Gl gAfaT g1

1. I3 T S¥H

2. whe A yader

3. hictel A war
4. AR

5. T=3 T ATHROT

Ans X" 151,324
o 215234
X 31,3245
X 4.2,41,53

Question ID : 2390877652
Status : Answered
Chosen Option : 2

Q.47 et ik siftfa gl & awa U R & anye-feafa | 43 &1 af fete & orn sifffa &
IR ok Ut &, &t orftfar & wra i ot fRam @2

Ans  of 1 zfero
K 23R
X 3.
X

Question ID : 2390877672
Status : Answered
~ Chosen Ontion : 2




Q.48 3wy fed 7q § fSirent argavn |, 11 3R 11l wifea e Frsemd @vedt §1 g 9t g 6 Ry g
FHY A & 7E SRR I @; ¥ & g8 9E=ad: 7 92t 9 (9= udia gidt @), ag Aofa |
3R g1 ok o= /8 e, st o1 arfdhes w9 & SrgaRoT FHear/d 8/81

YU
1. S A It g1
2. 35w fiR &1

forsenf:

I. o a1 diet &

II. g o et T8 &1
1. &S a1t fiem 1t 81

Ans X" 1 77 foreeRe | T 11 SIgEROT @l 81
7% 2. Frs | 3 11 & &t srgerer v €
J&maﬁﬁtaatflmlllma@mm%
25 4. sy | 3R 111 &+ € Srgeror ad 1

Question ID : 2390877670
Status : Answered
Chosen Option : 3

Q.49 39 fAeheq =1 79 o, fATRT geta ue & a1y agl Ty g, it f3da ug @ vem ug @ 81
Slex: IUAR:: AfRAAT:?
Ans  of 1 meEReE
X 2. st
75 3. am
X 4. =R (e )

Question ID : 2390877658
Status : Answered
Chosen Option : 4

Q.50 Rw 7w sEeer (Yeh) F eAmEE AeaEE FY A St W e (7) F e W o ' ¥ 3w
e F 95T FX)
12 14 26

18 46 48
15 30 2

Ans X 1. 38
X 2 45
X 3 39
v 37

Question ID : 2390877684
Status : Not Answered
Chosen Option : --

Section : General Awareness

Q.1 'IUfIvE 1 T¥pd A GRYT W1 F aTE Fe o1 S 3 9 fnd Ry sirar 82
Ans ( 1. 2R1 Rretg




7< 2. ameoret

/X 3. 31 Bt
/X 4. s s
Question ID : 2390877636
Status : Not Answered
Chosen Option : --
Q.2 R gl 9 & s ______ R dfem aur & gewg off 2
Ans  off 1. SrOre fRig e
75 2. gerdi g R
75 3. wEr
X 4 e
Question ID : 2390877646
Status - Not Attempted and

Chosen Option :

Marked For Review

Q.3 ‘" AfsfRaw e’ Tme yFaw & d@d FIH &2
Ans X 1. ger w3

o 2 st

7 3.3

X 4. ifara ey

Question ID :
Status:
Chosen Option :

2390877639
Not Answered

Q.4 HR 9k hi iHa safy frait gt 82
Ans  of 1 11 ad

X 2.7ad

X 3598

X 49T

Question ID :
Status :

Chosen Option :

2390877621

Not Attempted and
Marked For Review

Q.5 Fr=fafRa d @ @ ar d@fera sz, gefie ok sdfRs arg=l @t 9o 33 & g wra & iy

TR & Frdehd ol e oar 82
Ans X" 1 UDAAN

/< 2. BREATHE

o 3. FAME
/X 4. HAEV

Question ID :
Status :

2390877602

Not Attempted and
iew




Chosen Option : --

Q.6 YT <2A I HEATUh hi- AT?

Ans  of 1 g

Question ID : 2390877633
Status : Not Answered
Chosen Option : --

Q.7 2018 & 3iichSl o AHFAR ATd fhE Faehich (Human Development Index) # 1 7 & fhe

2371 bl ¥oh S=aaw 22
Ans X' 1 wRa

/X 2. mimR
o 3. sficar

X 4w

Question ID : 2390877605
Status : Not Answered
Chosen Option : --

= =
Q.8 TS 2019 #, FAfeeh At & ek A Hifta srerreHt &1 '2019 Hifta FefAfY qRER Sfar?

Ans X' 1. qg I
X 2. g
o 3. g s
75 4. g g sfen

_—

Question ID : 2390877638
Status : Not Answered
Chosen Option : --

Q.9 U @ela 3ohTs (AU) & fia i gft ont FPresfira ot 81
Ans o 1 qedt iR

X 2. g eiRgy

7% 3. <z ek g

X 4. et ofx g

Question ID : 2390877611
Status : Answered
Chosen Option : 1

Q.10 #$ 2019 #, WRe &Y Ugell 'S ggeie’ _____ 21g= | [ ol 7E ot
Ans X' 1 gexmETe

v 2.3

X 3. drge

75 4. sfure




Question ID : 2390877599

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.11 '‘vierea< = ufeismr s fmfor ___ wfFarsgr @i
Ans X1 @R T

W 2 e 8

/X 3. meEd T

p R

Question ID : 2390877628
Status : Not Answered
Chosen Option : --

Q.12 srad ARV FEgg 15 W & oft s s @1
Ans  of 1 Frem @

X 2. teze T

X 3. &eiem e

/X 4. Seier g

Question ID : 2390877612
Status : Answered
Chosen Option : 4

Q.13 3l 2019 Tk, YR # 20 sl 3R dhe AT weait & Hene hi feafa A e oft caf<r dreprieres
g/« & foIg foh SITaTderTel = HaR UR WU &t JehdT 82

Ans X" 1105
75 2.200
o 3112
75 4.1098

Question ID : 2390877600
Status : Answered
Chosen Option : 4

Q.14 The basic structural and functional unit of the human kidney is
Ans J 1. Nephron

x 2. Glomerulus

x 3. Bowman'’s capsule

x 4. Alveoli

Question ID : 2390877613
Status : Answered
Chosen Option : 1

Q.15 R sprfa aderor (GSI) & SIgHR YR &1 Haifde AHFE HSR 1T IS i 91 872
Ans X" 1.t




o 2. s Ry
/X 3. dfter g
75 4. wErg

Question ID : 2390877631
Status : Answered
Chosen Option : 4

Q.16 FA=faf@a d & w14 a1 sewng YR & gdf de R a8
Ans  of 1 FEERIR

/X 2. g Qe

/X 3. g

K 4=

Question ID : 2390877630
Status : Answered
Chosen Option : 4

Q.17 31 2019 &, MR Ak T dig Tue @ Riqafagl @) gah sireHehe wire 6 i A, ag
WA _____ wf@ad

Ans X" 1. 3 TR
#< 2. sifesn
o 3. 3@

/X 4 dfterrg

Question ID : 2390877601

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.18 =fAfra Rz &, Aleer Fm Y@ FHvrar &2

Ans X 1. 7 AR e o wifehar I ahRell 81
/X 2. 5qeT SugT AT &t Aok o g feha s &1
/X 3. 78 fAfehar F Ieh h ake il vl 21
o 4. 75 frdea @ e =gt ) A 3T 2

Question ID : 2390877624
Status : Answered
Chosen Option : 4

Q.19 fA=fafaa d @ f5q ug &t ' 719 g4 (gas giant)' i @gT ST 82
Ans XHE

o 2 gswfa

/X 3.HmE

X 4y

Question ID : 2390877610

Status - Not Attempted and
~ " Marked For Review




l Chosen Option : --

Q.20 T AT & SeH #, 'Sied’ qreg ___ yoTTelt Rl e wwar g1
Ans X 1 =R

o 2 =
X 3.8
X 49w

Question ID : 2390877637
Status : Not Answered
Chosen Option : --

Q.21 YR G & SgUR, 79 aRue & Gewdl &1 wrfentet fha= gtar &2
Ans  of 1 g

X 2. 599

75 3.3ad

X 4498

Question ID : 2390877641
Status : Answered
Chosen Option : 1

_—

Q.22 HRTA WA T Rl AT HITSE AT TR I STLATEA 7T T SARR TeT Hear g?
Ans X 1. argese 166

/X 2. 3= 100

#< 3. 3ga 251

of 4 s=e 213

Question ID : 2390877643

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.23 uTqg SHTFATEST I TR Hech WTg T -l hil Faifdwm Sugwh A 21
Ans x 1. Yo gyaERRoT

#< 2. e

/X 3. Siefta ATt

o 4 am

Question ID : 2390877616
Status : Not Answered
Chosen Option : --

Q.24 nfdeRTRRer wraredt Y G it e wfdur Y fra srgeEh & siafa war mar 82
Ans B 7

X 2.9t
of 3. st
75 4. e




Question ID : 2390877640
Status : Answered
Chosen Option : 3

Q.25 A document which contains data and information arranged in rows and columns with the
facility of applying mathematical formulas is known as a/an:

Ans X" 1. taskmaster
J 2. spreadsheet
x 3. accountsheet
X 4. mathsheet

Question ID : 2390877598
Status : Answered
Chosen Option: 2

Q.26 3 @ fFd WRea wfrem &t s & Hifer P awf & anfie =8 frar man &2
Ans X" 1. G T & forg FE A

/X 2. T = 3R RS wr ggr

o 3. g R

25 4. e dard e

Question ID : 2390877642
Status : Answered
Chosen Option : 2

Q.27 fA=faf@a d @ o a1 fasheu gaR §R ded & Ul &l 39 O & Tgl SMRIg) shd ot g2ufar &2
Ans X 1. gewfy, R, 0T
o 2. s, geeafdy, e

75 3. T, S, Hire

/X 4. ggwfa, srer, aor

Question ID : 2390877617

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.28 ‘s di-s' I di-s & oI vgeh 2reg &, Sisem Iuan ______ & forg fovan stram 1
Ans X 1 v el pafaRofta ofaterT

o 2. Tz Gt wfarofi ot

X 3. S atedt @ Pmfor et

7K 4. AR & gRan

Question ID : 2390877607

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.29 '‘Fatel Midtere @ Hafta e e gl
Ans X" 1. Hiw1-uR srdcharg




25 2. ek adieron o uferse e
/X 3. dwmean
o 4. sary uRad

Question ID : 2390877626
Status : Answered
Chosen Option : 4

Q.30 fA=fafaa & @ forg ueref @1 vl am=ad: Tas A19-fRe 9ag a9[ & fag faar siran &2
Ans Jl%tﬁﬁ:!

/X 2. iR

X 3R

p R

Question ID : 2390877623
Status : Answered
Chosen Option: 1

Q.31 e1E 2019 &, T dgeten? wt ar$eieft fhche gfer oifth e @ wwmifaa fvan i a8 78
THFEIR A ____ 9RAH feheheR 1

Ans X159
X 288
X 3.7d
o 463

Question ID : 2390877645
Status : Answered
Chosen Option : 4

Q.32 dfermtiarsh amres dora 5 @ fohads sreoae | Heifda 82
Ans o 1. SfarsH & R wR qedt R ofted SsleE

X 2. et 5 e et 5 e
/X 3. =gt & e
25 4. gedi & siiaRe s

Question ID : 2390877618
Status : Answered
Chosen Option : 1

Q.33 What purpose does the ultraviolet (UV) treatment of water serve?

Ans x 1. It removes strong odour.
x 2. It adds nutrients.
x 3. It improves clarity of water.

( 4. It inactivates bacteria.

Question ID : 2390877609
Status : Answered
Chosen Option : 4




Q.34 TTFEEHN U & &R gt iR Uk Il fiis A & aRummesy B A @ o=+t sfie ar
Ffor gam um?

Ans Xlﬂﬂ?gﬁa
75 2. Fhehe
/X 3. iR Ehe
o 4 @R

Question ID : 2390877627
Status : Not Answered
Chosen Option : --

Q.35 st srreeftar e <rorRPTOR Rrercht Rt 22
Ans X" 1 sheraw 4

X 2 e

/X 3.9mng

W 4w

Question ID : 2390877634
Status : Answered
Chosen Option : 4

Q.36 R #, &y 7 voneft H 779 @ frw 78 ) St & ufRig a9 e & w9 & 7 sirar g2
Ans X1 e

W 2=

X 3. Ry

75 4. R

Question ID : 2390877629

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.37 T ______ umafrsaE gl
Ans X' 1 @

X 2. Srd
o 3.7
X 4 7@

Question ID : 2390877608
Status : Answered
Chosen Option : 3

Q.38 fa=faf@a & @ &= o uRue wifsiifed o« & fog Swerd 82
Ans  off 1 gedit or ol et 3 AR ok AT

25 2. geeht g & =Y SR ufeRaT @A

7< 3. <z @ Tt o

X 4. Tz & urt o Rrvtees aro




Question ID : 2390877632
Status : Not Answered
Chosen Option : --

Q.39 wRaH 2019 #, A i YR sl # ST aiferprei @ ufAféa wE & fog 2fSes
fepfeiT ofik AexfAu swrefehe 3= a1 39 FrRfsha &1 A1 ‘TS SiieTs o offsd’ (GOAL)
@1 gl

Ans X" 1. g3md (Huawei)
2. Fwgs
X 3.7
75 4. v

Question ID : 2390877604
Status : Not Answered
Chosen Option : --

Q.40 ¥Rd & Aemgifi= el & fRAIgH, 3Ige hotdl 399 & fhadh zar 42
Ans X 1. smggt

W 2 s praveshresult.com

/X 3. s

X 4. TR

Question ID : 2390877635
Status : Not Answered
Chosen Option : --

Q.41 wWRefta araiial sk Sehmafaat A fra af A thedem sift 37 dar offt iwd ve devda
(FICCI) =1 71&+ foram ?

Ans  of 1 1927

/X 2.1951
/X 3.1947
X 4.1920

Question ID : 2390877606
Status : Not Answered
Chosen Option : --

Q.42 UREw & =19 I Geh 3RS 21
Ans X 1. g

/X 2. smEe
75 3. zemEmA
of 4 s

Question ID : 2390877619
Status : Answered
Chosen Option : 4

Q.43 SHAMER ______ el & 3ia A &9 65 fafora af uget fagea gt g <
Ans x 1. ufifaq




W 2 R
X 3. e (R
X 4 i

Question ID : 2390877614
Status : Answered
Chosen Option : 4

Q.44 SEa 2019 #, o st ux 350 Hwa 1 Yk SARoT fRaent st fohar mam

Ans “‘]Aﬂgrﬂﬁ:gﬁg
/X 2.7% e 3
X 3R
X 4.7z e

Question ID : 2390877603
Status : Answered
Chosen Option : 1

Q.45 Fe203,
Ans X1 fmre
W 2 e
/X 3. 3R uTERTEe
/X 4. frere

ATHh FIig ST ol I G gl

Question ID : 2390877615
Status : Answered
Chosen Option : 2

e .

Q.46 FfafEa # @ fore e &1 vt "mT=aa: & 320 | el ol HH T § g & forg fRrar

e 82
Ans X‘].m
o 2. & s
/X 3. vegrhfaom wefgs
/X 4. oA Frfss

Question ID : 2390877622
Status : Answered
Chosen Option: 2

Q.47 'fAee Sfiiaergg’ (Benthos) AT Sfia STHTAE: Hhgl UTq ST &2

Ans X" 1. et gq ghedt &
X 2. Tz ad w
X 3. TR B e
VW 4T T

Question ID : 2390877625
Status : Not Answered
Chosen Option : --




Q.48 f=faf@a # @ &= a1 qow o gl 82
Ans  of 1t

X 2. ieee
X 3. dfRa
75 4.FSH

Question ID : 2390877620
Status : Answered
Chosen Option: 1

Q.49 T3 Sgie T & fog Fr=fafEa d @ fFw i / Sivedar o1 Iugin =& forar sirar 82
Ans (p@am@a

/X 2. AT ad

X 3.adte

75 4. Hets

Question ID : 2390877597
Status : Answered
Chosen Option: 1

Q.50 wifRET foFa Ao &e & HeuTae 47
Ans o 1. agor TS oid

7< 2. TSI arét

25 3. eiten srerd uré

25 4. sigor Siify we aréf

Question ID : 2390877644
Status : Not Answered
Chosen Option : --

Section : Part A General Engineering Civil and Structural

Q.1 ofy fer wWe $ BF W TG 864 FFTTcumec 7T R FEA A AF AW 120 R &, @ wwA F
fore seer 7 w1

Ans - X 1. 310 cm
v'2.120 cm
/< 3 864 cm
& 4 400 cm

Question ID : 2390877520

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q2 ue g o &, AR WIS T Fy = 45 ® 9.0 F @ §, O 59 FaT ST
Ans xl r Gl'q'
v 88 F




X 3 T I
X 4 FASYER =T

-

Question ID : 2390877527
Status : Not Answered
Chosen Option : --

Q3 |3 456:2000 ¥ AR, MITY FEE F vHA FART A7 F BT sqEF He7 TS B @ @2

(ST X, = FETAT a7 H TE)
Ans o 1. B
< 2. 0.002x,
'3 042x,
< 4 0.36f

Question ID : 2390877545
Status : Answered
Chosen Option: 3

¥ O § W T oEd 5 F7 o 82

Ans ( 1.

T 3W AT TEEIT AT F g &, S ot & B gemer 79§ sveey I8 a9 8

X 2 7g Shamwr-gadr AR &7 Far B

X 3

g T 1 37 AT F FH T g, TEE FF 97 9d F TR g

X 4 TF IY AT H HA HA g

Question ID : 2390877522
Status : Answered
Chosen Option : 2

Q.5  What will be the end moment of a fixed beam with a uniformly distributed load of 'w' kN/m? and a length of ' ' m?

Ans o 1 w22
K2 w2
54 w8

Question ID : 2390877581
Status : Answered
Chosen Option : 1

Q.6 The autoclave test is used to determine the

Ans 1. calcium content

x 2. l*ate Gf hxrdeatise

in Portland cement.




o 3. expansion

75 4. sulphur content

Question ID : 2390877540
Status : Answered
Chosen Option : 4

Q.7

Ans

3-HFd HIAURS (freeholder) & AFe # Fafoed # ¥ Fid-8 &%eT 7T &2

v
3+HFd HAURS (freeholder) Hafed T 90T FaTT &I 21

X 2
3777 (freehold) A sFom S rer A dfiEur F Rr et s HF P wra am &
TR AT & S E

X 3
Tafed X AUFR F1C WA F /T s7FT fFune (freeholder) F1 Fafda &9 ¥ safos e
FT Er HFTEAT AT E

F
3eHFd AR (freeholder) % T/ v Rfdre 3= & Rw coeefis 3w 2 8

| Question ID : 2390877573

Not Attempted and
Marked For Review

Status:
I Chosen Option : --

Q.8

S A S e FREent R sniew o & Bese # vgE e & Rader R
(Bligh's creep theory) & Tafia WET FUe H Tg=1d Hi

Ans x 1.
grat=aar 818 (Head loss) @90 &ls & FFHT & FgHARIT 21T §
X 2
grareaaT #1H (Head loss) RHYUT 818 % oA 81T &
X 3
arer==IaT §1H (Head loss) Fawdur s/@Ts & a91Ha & gchaeardr gial §
v
grat=aaT #1W (Head loss) f@yuT o@$ & g@wagadr g &
Question ID : 2390877521
Status - Not Attempted and
" Marked For Review
Chosen Option : --
Q0 roer aegEYE # AT B F vy # @ @ He-ar wua g 32
Ans x 1.
o fmelr &7 #F feafdE F@ T S e A ¥, o sRomer #r e Fer e Fon @
S #
X 2

T Feaat sET 39 AR UF FBN T, UF FH HHUT AT a6 HIEES 74 W & I et S
¥, o =w R &1 3w B ST e ¥




v &3
afs g & WA T §E &, o 5 R @ 5w A R S Fear 2
F

su R & swaler 3o sl 9T A &R o ST AN gE et v ae A ¥ e G e
wF

Question ID : 2390877587
Status : Not Answered
Chosen Option : --

Q.10 Tpe magnetic bearing of a line is found as 350 45, If the declination is 39 45' E, the true bearing of line is :
Ans x 1. 310

V2 390 300

< 3 1200307

<4 500 30°

I Question ID : 2390877564
Status : Answered
Chosen Option : 2

- - W A <

— — — W

Q.11 s 456:2000 ¥ 3rWR, 915 (footings) &g Fae= & frw AN FaT (nominal cover) fa=r giar =fgr?
Ans o 1. 50 mm

< 2 30 mm

/320 mm

< 4 45 mm

Question ID : 2390877547
Status : Answered
Chosen Option : 1

M o & FF T I F AT T T L

Ans «1.
FETeih HIUSH & HRUT 3¢9+ glef ITel 38T T TS J I HI gerar

X 2 ST H FTaeT SIZEASs I AT H g
X o T 7 gforT s @ AT F FAT FHE

X 4 FIESISAT HowIss FI ST T

Question ID : 2390877511
Status : Answered
Chosen Option : 1

Q13 oo & fewor % BT sgwT o wor A fheex # edes & e gt 22
Ane X1 500 T 1000 litres/hour/m?




V2100 & 200 litres/hour/m?
/< 3 300 & 600 litres/hour/m?
#< 4 3000 & 6000 litres/hour/m?

Question ID : 2390877515

Not Attempted and
Marked For Review

Chosen Option : --

Status:

O Grafefes & @ #iF o TR 99 fEia & awEr T a8
A . S areEERr # R

X 2 Fr7 Fr grET FAET Fo7 2

X 3

I3 AT & A, dedar 3R g9ET F B @91 &

F

oAy WA & 3T A $7 TN §F F T F em 7€ w1 8

| Question ID : 2390877578
Status : Answered
L Chosen Option : 1

Q.15 If H is the head over the crest of a rectangular weir, the discharge varies as :
Ans o1 gl.5

X2 g05

X3 H

X a g5

Question ID : 2390877529
Status : Answered
Chosen Option : 1

Q.16 s 2185 (s7°T1) : 2008 & AR, Ger 7 a8 HFE s-Frafi Fwad sovmar & B 7as Mva
TiET weed I &2

<105 N/mm?
v 2 35 N/mm
<3 25 N/mm
<4 1.5 N/mm?

Ans

2
2

Question ID : 2390877507

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.17




According to Building Bye-laws, what is a building called when the outer face of any of its walls is on the street
boundary?

Ans X 1. Barsati
/< 2. Balcony
X 3. Cabin
v 4 Abut

Question ID : 2390877569
Status : Answered
Chosen Option: 1

Q.18 =7 F A=l F v &9 77 (representative fraction) ¥ FT H HTART I T FAT GAET
T &2

Ans  X1.1/100
v'2.1/25000
< 3.1/10000
X 4.1/1000

Question ID : 2390877556

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.19 df¥ersit vd et &, ead @ sia @ wiRga faw, 6 e faw & e tEET 9% g S
IS & T BT T T FemwER & B g 87

v 1. I TEEe faer ‘C [DFR(PW)25]
X 2 gz e [DFR(PW)26]

X s. I TS e ‘A’ [DFR(PW)23]
X 4 EC UE wEae &e [DFR(PW)22]

Ans

Question ID : 2390877566
Status : Not Answered
Chosen Option : --

Q.20 A portion of the roadway, contiguous with the travelled way and is intended for accommodation of stopped vehicle is
called as

Ans  of 1. Shoulder
X 2 Median
/< 3. Curbs
/< 4 Carriageway width

Question ID : 2390877594
Status : Answered
Chosen Option : 1

21 o cofae R F7 T SEEETT § AT ST, afE r

Ans




X . SHR HTCAGhg! TR 0T g

V' 2 SEHT FTCITHET FAS FT AT CACHS 2T 8
X 3. SHPr HCAGFer FATE N AT FHUNMcHS 2l &
X 4 SHH T&cd g Scoalde g & A 2T §

Question ID : 2390877534
Status : Not Answered
Chosen Option : --

Q.22 Determine the position of center of pressure (from the surface). for a rectangular lamina of height /i immersed vertically
in water upto a depth k below the free surface.

Ko
v 2
X 3

Ans ik
T
2h
23
h
=

5h
4.
3

Question ID : 2390877533

Not Attempted and
Marked For Review

| Chosen Option : --

Status :

_— = = =

Q.23 When compared with open caissons. floating caissons generally
Ans

/< 1. have a greater depth below the ground surface
o 2 are less expensive
/< 3. have a higher load-carrying capacity

/< 4 have a slow and inconvenient installation

Question ID : 2390877586

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q2 =3t F 7 & F=rg smeemasd ™S (inundation irrigation) 8t wgeTdr £72
Ane X1 zrgasie f&=TE (Diversion irrigation)

v 2 gargr f8=rg (Flow irrigation)

<3 ﬂ?}? f&=mE (Combined scheme)

X 4 margur =g (Storage irrigation)

Question ID : 2390877519
Status : Not Answered
_ Chosen Onption : --




Q25 Bt gor & T A ST S TAT A B 9@ # FwoR ol #r Aok F w@r S 32
e X Afes TEwee

X 2 orferefe ofrewm

X 3 TogHAT BeaH

v ¢ e Fhe

Question ID : 2390877502
Status : Answered
Chosen Option : 2

Q.26 Gt Fas-TEs T W, Ao Ul & AR UE o9 Hr 9T TR (achievable accuracy)
foreett gl &7

e 1250 F 1
<2 1000 # 1
<3 500 & 1
X4 2000 F 1

Question ID : 2390877563
Status : Answered
Chosen Option: 1

Q27 Fat # ster Rawor $r 5w awed @ fea RS (trickle imigation) sf g SaT &2
e X e SR

X 2 By FfET

V'3 BT glene=

X 4 grET wefEeT

Question ID : 2390877517

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q28 Tdentify the dimensionless parameter from the following.
Ans o 1. Reynolds number

/< 2. Specific weight

/< 3. Chezy’s co-efficient

/< 4 Kinematic viscosity

Question ID : 2390877531
Status : Answered
Chosen Option : 1




Q.29 A saturated soil sample has a dry unit weight of 18000 N/m? and specific gravity 2.65. If unit weight of water is 9810

N/m?, determine the water content of the soil sample?

Ans X' 1.0.25
<2 041
V3 0.17
< 4034
Question ID : 2390877589
Status : Not Attempted and
" Marked For Review
Chosen Option : --
Q.30 1981 & 2001 #r 373 & gk sineg # wew Rww o= & w F 8 I Fe d

MK ARTR
X 2 HEAR st

A< 3 g e AT
v i FEAF T

Question ID : 2390877592

Status : Answered

Chosen Option : 4

@31 Adding extenders in paints increases its

Ans X 1. adhesion

/< 2. washability

' 3. pigment volume concentration
/< 4. durability

Question ID : 2390877500

Status : Answered

Chosen Option : 4

Q.32 o Rfess Rws §&egE (CBRI) F 3R, v 3R & #Afer saral & w9 & fow fre Rt #r

Fefrper fawam T 7
Ans x1.

11.5-cm-AET @ FhE 1 : 5 : 10 F FI 30-mm- A HH FHe 1

X 2

11.5-mm- A @ FHe 1 : 5 : 10 F F9T 40-cm-Adr O & 1

X3

11.5-mm- A g FHE 1 : 5 ; 10 F FIT 38-cm-ArE e FHE 1 :

v

11.5-mm- A @FE FHe 1 : 5 : 10 F F9T 38-cm-Adr de FFe 1

: 5 o S ¥

: 5 o S E

;6 o T ¥

: 4 o S E

Question ID : 2390877570

Not Attempted and

Status : Marked For Review

~ Chosen Ontion * --




Q.33 gy i AT (IS 6543) F HAWR, I dHT F GEAEYA AF 5.6 ¥ 9.8 kN/mm? F A @ §, &
wFE 1 raeaT AT F § e 4o 7 wfea B e E?

e X1 3E B
X23J= D
vigzc
X4 aEA

Question ID : 2390877504
Status : Not Answered
Chosen Option : --

Q34 =g % @R, 7000 F 21,000 cumec 7% & fwmor F v fafise fran #r sfavar oo
P =fgm

Ans 1125 deT
X202 AT
X3 0.1 M
X 4 2 deT

Question ID : 2390877525
Status : Not Answered
Chosen Option : --

Q35 The unit of dynamic viscosity of a fluid is :
A o Ns/m?
X 2 NsZm
X3 Nm¥is
< 4 Num/s

Question ID : 2390877532
Status : Answered
Chosen Option: 1

% v IS whEE F ST # e # ¥ - o aied ¥
Are X ot T

v 2 3rgofar

X3 39T 3= amade

X 4 el Rgys

Question ID : 2390877557
Status : Answered
Chosen Option : 3

Q.37




10,000 T TETEr FTer Tk 9@T & caid [heed (rapid filter) & &fSwar 20 m? ¥ aur &y #r stwa
faregesT &7 4000 litres/hour/m? ¥ &t #eT &7 &T g

Ans - X1 160 MeverFafeEw
X 2 145 Sev/zafFafesg
X 3 158 drex/eafFalfeas
v 128 dereneafeaw

Question ID : 2390877516
Status : Not Answered
Chosen Option : --

Q.38 According to IS 456:2000, the maximum strain in concrete at the outermost compression fibre is taken as:

Ans 3 1. (0.035 in shear
/< 2. 0.035 in bending

7< 3.0.0035 in shear
« 4 0.0035 in bending

Question ID : 2390877544
Status : Answered
Chosen Option : 4

Q.39 faex TELT e (WHO) ¥ 3@, 40w & FoiRree &Y sgeedr =11 @l B
Ans 1. 350 mgl/l

X 21 mgll

'3 200 mgl/l

< 4. 0.001 mg/l

Question ID : 2390877509
Status : Answered
Chosen Option: 3

Q.40 20 mm x 20 mm ¥ EFTET FT A TF 1- m - FT F TF, 40 kN F TG I (tensile
forces) % 3nieT ¥ T TeaEYAr HW 200 GPa ¥, & ©F @t s@ & g e 3fF (elongation) wE
w1

Ans 1. 5 mm

/< 2 0.005 mm
/< 3 50 mm

v 05 mm

Question ID : 2390877577
Status : Answered
Chosen Option : 2

Q.41 Which of the following is a non-automatic rain gauge used in the measurement of rainfall?

Ans X Tippine hucket rain gange




/< 2. Weighing bucket rain gauge
« 3. Symon's rain gauge

#< 4. Float-type rain gauge

Question ID : 2390877510
Status : Answered
Chosen Option: 3

Q.42 mew A (K), 7o A (E) T =@t w9 (Um) S fa gaw & g Wiese B smer
|
Ans o1 K = mE/3(m - 2)]
X2 K = mE/(3m )
<3 K = mE/3
X4 K = E/[3(m - 2)]

Question ID : 2390877580
Status : Answered
Chosen Option: 1

Q.43 In estimation and valuation, the charges that are levied at the time of transfer or issue of the stock in addition to the book
value and storage charges are termed as:

Ans 1. market rate
/< 2. storage charge
W 3 issue rate

/< 4. supervision charge

Question ID : 2390877565

Not Attempted and
Marked For Review

Chosen Option : --

Status:

WM SRT AT R ZEnr oA A8 AT ST g 8l
A X1 ofy goes Tow w@ieT o § O 39 a8 w0

X 2 EEr g T FAT T T F

v AT T OIH

X+ Fo g & @ =

Question ID : 2390877562
Status : Answered
Chosen Option : 3

Q45 wWhat are the errors that cannot be eliminated in surveying?

Ans  of 1. random errors

x 2. errors Ane tn natnral cancec




/< 3. personal errors

/< 4 instrumental errors

Question ID : 2390877558
Status : Answered
Chosen Option: 2

Q.46 WWhat is the expression for crippling load for a column with both ends hinged?

Ans sw2El
1. =
X1p =

-
: 9 . = Ef
X2p =

w 3 =31'rZEI
X3P o

J‘L P _frzEf

Question ID : 2390877550
Status : Answered
Chosen Option : 4

Q.47 Asteel built up column is subjected to an axial force of 1000 kN. The lacing system has to be designed for resisting a
transverse shear of :

Ans 1. 30 kKN

v 2 25KN
X3 20kN
X 4 15kN
Question ID : 2390877549
. Not Attempted and
Status : Marked For Review
Chosen Option : --
=
Q48 e & gogTEYar AT & Ec = MPa ZarT wefdia fmar smar ¥

(FEF = Fhe ua Hr yfemeror gies T )
At K1 3000Vf,
v 2. 5000"f
< 3. 5000f
X 4. 2000f

Question ID : 2390877548
Status : Answered
Chosen Option : 2

Q.49 The factored load carrying capacity of a reinforced concrete column (M20 concrete, Fe 415 steel) of 350 mm X 650 mm
size with minimum percentage of steel is :

Ans X 1. 1976 kKN
X2 25001




v 3 2326 kKN

K 4 1536 kN
Question ID : 2390877546
Status : Not Attempted and
" Marked For Review
Chosen Option : --
Q.50 &1 FETS 33 BT B § IR UG ST FHEI0T H TIFA e ¢
e XK dgAam
X2 @iftw I
X3 TET A=
v ﬁﬁ!’\ =TT

Question ID : 2390877561
Status : Answered
Chosen Option : 4

Q.51 With respect to irrigation efficiencies, the ratio of the quantity of water stored into the root Zones of crops to the quantity
of water actually delivered into the field is called:

Ans  of 1. water-application efficiency
/< 2. water-storage efficiency
/< 3. water-conveyance efficiency

/< 4. water-use efficiency

Question ID : 2390877518
Status : Answered
Chosen Option : 4

¥ PR o & T T F A AT W wws

e X Eer TR AT S
<2
HTEITE &1 Tpfae Atforar (natural drains) T 3§ F%h

K= = & doar 7 e =
v o aferar Fr wmsfee F

Question ID : 2390877523
Status : Answered
Chosen Option : 4

Q.53 s 456:2000 & 3(FHR, WURUT HEE AT §H F FEARK @ (stirups) & Be sman e waw
(spacing) AT é‘?

Ans X1 500 mm




< 2 600 mm
#3150 mm
V' 4 300 mm

Question ID : 2390877543
Status : Answered
Chosen Option : 4

Q.54 1n surveying, which of the following instrument is used for indirect measurement?
Ans 2 1. Passometer

# 2. Pedometer

/< 3. Speedometer

' 4 Metric chain

Question ID : 2390877560
Status : Answered
Chosen Option: 1

Q.55 amchT wew F AR Tt anfE T TeEEn, T Ao, fer wEa i o gEat & e
s ¥ s I gEatea fRar T ar?

M 1934 F SET wEE SO
X 2 T SEe (Pierre Tresaguet)
X 5. AR W A=A

X o i IR iy W

Question ID : 2390877591
Status : Answered
Chosen Option : 3

Q56 YWhat is the formula to calculate floor area ratio (FAR)?
Ans o 1 total covered area/plot area

/< 2. (total covered area + plot area)/(plot area)
/< 3. (total covered area = plot area)/(plot area)

/< 4. Total covered area/built up area

Question ID : 2390877568
Status : Answered
Chosen Option : 1

Q.57 For which of the following tunnel losses is Manning’s rugosity co-efficient used in the calculation of head loss?

Ans X 1. Ioss due to bend
« 2. Frictional loss

/< 3. Loss due to change of velocity in contraction




/< 4. Loss due to change of velocity in expansion

Question ID : 2390877526
Status : Answered
Chosen Option : 4

Q.58 fomfy gARE & B9 F TR T AT S I H SIR (covered area) FEAET B

Ans X afdy &9we (Sundry area)
v 2 T 9w (Plinth area)
X 3w FT STHA (Carpet area)
X 4+ gfyg=rers &9%a (Circulation area)

Question ID : 2390877571
Status : Answered
Chosen Option : 4

- =

Q59 afy Fo # pH A 8.5 ¥ AT &, & T9H ¥ FIA-T1 FARABA T2
XK. A R sEEeREEa e

X 2 FF TRFERHASA

v 3 Fae AAGARTATST

s sEEETEES

Question ID : 2390877512
Status : Not Answered
Chosen Option : --

V90 Srer i rTArS FordT I U B suftufy & Fror @ 37
Ans X1FHEEE

v FEfET

X 3 gethe

X 4 FelSE

Question ID : 2390877514
Status : Answered
Chosen Option : 2

Q61 Which of the following is an example of a sedimentary rock?

Ans 1. Granite
v 2. Sandstone
#< 3. Marble
/< 4 Quartzite




Question ID : 2390877505
Status : Answered
Chosen Option : 2

Q62 Which of the following is the chemical classification of rocks?

Ans o 1. Silicious rock
#< 2. Stratified rock
#< 3. Unstratified rock
#< 4 Foliated rock

Question ID : 2390877503
Status : Answered
Chosen Option: 1

Q63 froifsre @t # WEHTEAS STT (contingencies) W AT FAT HHUTT §7
XK AR F T W O # R A A
< 2
T e = Fdr TRy = % R o F7 e
5 3.
T & e F uw G v R g FE F O dEes
v

far v F FieRE R, e G ofr STt F mEa sl 76 TR o wean, ofte aee
e S §

Question ID : 2390877567
Status : Answered
Chosen Option : 4

Q.64 Tn soil engineering, what is the volumetric relationship that defines-porosity?
Ans o 1. The ratio of the volume of voids to the total volume

#< 2. The ratio of the volume of air to the total volume

#< 3. The ratio of the volume of water to the volume of voids

/< 4. The ratio of the volume of voids to the volume of solids

Question ID : 2390877585
Status : Answered
Chosen Option : 1

Q65 WWhich of the following is a fillet weld?
Ans X 1. Single J

/< 2. Square

« 3. Mitre

/< 4. Single bevel




Question ID : 2390877553
Status : Answered
Chosen Option : 4

Q66 |5 10262:1982 % 3FER, A= C F OPC & Fhea FFed fraelr @ =nfgw?

Ans X 1. 375 & 42.5 MPa
X2 325 @ 37.5 MPa
V'3 425 & 47.5 MPa
X4 475 ¥ 52.5 MPa

Question ID : 2390877538
Status : Not Answered
Chosen Option : --

Q67 Tdentify the one where the centroid of section lies outside section?

Ans X" 1. Symmetrical I section

+ 2. Angle section

/< 3. Tee section

/< 4. Unsymmetrical I section

% Brredr vd O FU arer O
e XK. ofewg o

X 2 afewmT

v o At O

X4 =g o

r Question ID : 2390877579

{ Status : Answered
Chosen Option : 4

N

3 —mﬁ%[

Question ID : 2390877508
Status : Answered
Chosen Option : 1

Q69 T ean concrete base is an example for
Ans o 1. Rigid pavement

7< 2. Flexible pavement
#< 3. Semi-rigid pavement

/< 4. Composite pavement

Question ID : 2390877596
Status : Answered

_ PhAanAan Nntian - 2




Q.70 s A F dAoEr # g A TAH A Flaah 78 Fee @ F ARt W F & W F U et

# w2

Ans 1 323 fYaT (Braided river)
X 2 gEser R (Tidal river)
X 3. gfaa Rag (Virgin river)
X 4 worelr R@T (Flashy river)

Question ID : 2390877524
Status : Not Answered
Chosen Option : --

Q.71 % 3 Breq & o &7 F &9 F 20 mm =17 T BF F ©F Fr 39007 FHaAT 04T &, Tg g
¥ 8 & FUT WioEe & WA IoRAUT & I & @ 1 AW & Awas aemen s e

r
Ans 1. 2500 mm
/< 2 2000 mm
# 3 3000 mm
v 4 1750 mm

Question ID : 2390877554
Status : Not Answered
Chosen Option : --

Q72 wwhich of the following is added as a vehicle in paints?

Ans 1. Turpentine oil
#< 2. Read lead
+ 3. Tung oil
/< 4 White lead

Question ID : 2390877501
Status : Answered
Chosen Option: 1

Q73 YWhat is the Moh's hardness number for Topaz?
Ans X112

<210

X3 2

Vs

Question ID : 2390877506
Status : Not Answered
Chosen Option : --

Q.74 As perIS 800:2007, what should be the maximum slenderness ratio for the tension members in which reversal stress

due to load other than wind or seismic forces oceurs?




Ans X1 580
&< 2400
< 3 350
Vv 4 180

Question ID : 2390877551
Status : Answered
Chosen Option : 3

Q75 v g &F # 60 om I AT 3WF FW 0.8 F INMF v T 30 om AT 7 ¥ EF A FH A
= #r g g dar gt

v 8240.4 N/m?
< 2 9430.6 N/m?
< 3 8829 N/m?

< 4 2354.4 N/m?

Ans

Question ID : 2390877535

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.76 Which of the following cement is supposed to be the best cementing material and is well burnt cement?

Ans 1. Tetracalcium alumino ferrite

' 2 Tricalcium silicate

/< 3. Tricalcium aluminate

/< 4 Dicalcium silicate

Question ID : 2390877537
Status : Answered
Chosen Option : 4
Q.77 i :
FTATST FHIOT F TIEIUT Fr HSfHT FLT g

Ans X1 FETHTE
v 2 =
K s gl
X4.q;igg-|-

Question ID : 2390877530
Status : Answered
Chosen Option : 2

Q.78 The water content at which soil changes from a liquid state to a plastic state is known as:

Ans 1. consistency limit
/< 2. plastic limit
Jg. liquid timit




/< 4. shrinkage limit

Question ID : 2390877584
Status : Answered
Chosen Option : 3

Q.79 What will be the capacity factor of hydro-power if a plant with a capacity of 10000 KW is to produce 400000 kWh
when operating for 100 hours?

Ans X1, 25%

Question ID : 2390877528
Status : Not Answered
Chosen Option : --

Q.80 =z R, s v TaRA F1 BFy svwa & o & #R 39 9 59 Ay Ry dame Freaw d
o fsTr ST §, Fr wgene €7

M Ry @we ¥ YR W AT
K2 Tl ¥ AT ST

X 3 FTga ¥EeAr ¥ ded

X 4 " T HThold

Question ID : 2390877575
Status : Answered
Chosen Option : 1

Q81 According to the Indian Standard Classification. the soil is classified into:
Ans X 1. 5 groups

/< 2. 23 groups

' 3. 18 groups

/< 4. 10 groups

Question ID : 2390877583

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.82 zfr wfy m? ax 2600 , 3t w=Taw e aet ¥ v 20% sfafes ofeds fe s & & 100
m? & fEsrer ST aTel g Aol Y SAREr % e Fwr swElaT 79 (rough cost estimate) T
2

Ans - X1.212,000
#< 2. 260,000
< 3. 372,00,000




W 4 372,000

Question ID : 2390877572
Status : Not Answered
Chosen Option : --

B ¥ ¥ P W TeTTT BrHTET ST Y gy 7

BARE e - R
X 2
BIFTHT & SN FATEIOT @ (line of collimation) & wenfaa 2T g1

X o TomsfEe cgEt & #5 afy 7@ @
X 1 HeTe ¥ SR S it wafea a3

Question ID : 2390877559
Status : Not Answered
Chosen Option : --

Q.84 TR & § #iw-a1 9 & 37 v &, TFF B #9a & Be 9 & el = & 5 5
F v e Fraar B

M K1 3eEea w=IfEe (Freehold)
/< 2. 39 92T (Sub lease)
W 3 ATSTES 98T (Life lease)
&< 4 TTEr 93T (Perpetual lease)

Question ID : 2390877574
Status : Not Answered
Chosen Option : --

Q85 |3 456 : 2000 F AR, WE VHE FHIT F FHE AR Frdam g =fge?

e K21 kN/m2

< 223 kN/m?

X 3 22 kN/m?

V4 24 kN/m?2

Question ID : 2390877541
Status : Answered
Chosen Option : 4

Q.86 IS 13311 (317 1) F 3iEN, FeNIFa FHE F T WHET T FH T, IE Fea 37 &,

" 7 Fhe P HEOT UE F §R F B
¥ 1. 35 km/s ¥ 4.5 km/s & &=
<230 km/s & FH

Ans




X3 45 km/s ¥ 3¥0=F
<430 km/s T 3.5 km/s & &=

Question ID : 2390877542
Status : Not Answered
Chosen Option : --

¥ R F TS # Y ¥ P FuT g 87
Ans x1.

FE A | Fr g a1l | o gae B S g, & e aeee oo = R A &
T s BT e s

X 2
ofe; 3 FT UF OIS TSR of Flog @, A TF TG WHG FOFE FH T & ¢ a9 TN
A T e I8 e B

X 3
AT 3R I F1 AR T W1 A H HES 2l g
v
e #r 25% ¥ FA AN F T @ ¥ oRewRe s w s ame g ae ¥

I Question ID : 2390877498
Status : Not Answered
L Chosen Option : --

R O

Q88 gy oiE dEie F Tew asieaEs ST AT e adr #7
Ane X 135% & 9%

< 217% o 25%

v'3 1% & 2%

<4 60% W 65%

Question ID : 2390877536
Status : Answered
Chosen Option : 1

Q.89 Which of the following is the function of the sub base layer in the pavement?
Ans 3 1. To provide a smooth and uniform surface for riding

+ 2 To minimize the damaging effects of frost action

/< 3. To provide skid resistance surface

/< 4. To resist the abrasive forces of traffic

Question ID : 2390877595
Status : Answered
Chosen Option : 4

¥ g F At s ¥ & g 2

Ans




v 045 3T 050
X2 0.08 3k 0.18
<3 0.23 3T 0.27
< 4 0.25 3T 0.33

Question ID : 2390877582
Status : Answered
Chosen Option : 1

Q.91 e Fr TomsfET F1 TEFT [T (Bishop's simplified method of slice) F Tt & 3 ¥ Fia-Tr
Fua /&2

X 1. Ug Hae Ao g6 WEIEEAT S TS HIAT 2l

Ans

X 2 TE HIA FeF T FEAEEAT HT FIE HLAT g

v
TE HERT-3709T TARH! T AT T FRIA o1 & THT H HACET L ol ¢

X 4 TE FHES YT T WEAEEAT H TS BT 8

— = h__
Question ID : 2390877590

Status : Not Answered
Chosen Option : --

Q.92 zfr 3R seraw =1 wdeT = F w B F femfRls & faew 7 s w9 T ww (staff) #
AT A F (o FeAYT FOT FT AT oOTHT & 27

Ans «1§ ﬂflf
X > Yafd

X 3. Preprorfad
X 4. Frpea
Question ID : 2390877555
Status : Not Answered
Chosen Option : --
Q.93 uw fafése wwg W felt w@9fes & dAiser T 7w % Ao & wer & F T H AT ST
gl

Ans

X . T g7 (Rateable value)
v o HedTRd

X 3 3faT FzT (Book value)

X + AFARUT {7 (Salvage value)

Question ID : 2390877576
Status : Answered




L

Q94 gy Forpw Fr el & v g gR & die # v R S 32
Ans x 1.

STAT-TE-UTgA AT (Blast fumace slag cement)

< 2 ae-FT AT (Qil well cement)

X 3. 3TI-TegfAAT HHT

v
grEeis-aISeTeT HHT (Portland pozzolana cement)

Question ID : 2390877539
Status : Answered
Chosen Option: 1

Q95 Toughness Index of a soil is the ratio of:

Ans o 1. Plasticity Index to Flow Index
/< 2. Shrinkage Index to Liquidity Index
/< 3. Liquidity Index to Shrinkage Index
#< 4. Liquidity Index to Consistency Index

Question ID : 2390877588
Status : Answered
Chosen Option: 1

Q.96 Which of the following constituents in the manufacture of glass acts as an accelerator for the fusion of glass and an
excess of which will be harmful?

Ans o 1. Soda
#< 2. Potash
/< 3 Lime
X 4 Cullet

Question ID : 2390877499
Status : Not Answered
Chosen Option : --

Q.97 s g=EEr &, 100 F 1 $F 3708 @9, 80 H 1 & F0E o7 § Foa &, o Baw #or w9

FrAT

A

ns (144%:]
X2 =
X3.$
?{'4.L




Question ID : 2390877593
Status : Not Answered
Chosen Option : --

Q98 What is the content of carbon in pig iron?

Ans  of 1394 t0 4%
X 2 5% to 8%
# 3 0.002% to 0.1 %
< 4 0.5% to 2.5%

Question ID : 2390877497
Status : Answered
Chosen Option: 1

Q.99 What is the relation between equivalent length ( L,) and actual length (1) for a column with one end fixed and the other

free?

Ans o 1. (B =251
v (L,=21)
- [
xg' [Lg:;)
K4 (L,=30)

Question ID : 2390877552
Status : Answered
Chosen Option : 2

= @ ——= =

Q.100 The process of separating impurities from a suspending fluid by the action of natural forces alone is called:

Ans X 1. sedimentation with coagnlation
/< 2. discrete particles
< 3. chemical precipitation

« 4 plain sedimentation

Question ID : 2390877513
Status : Answered
Chosen Option : 1




